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QUESTION 1

A customer uses Alibaba Cloud Auto Scaling service and creates a scaling group. He/she sets the "Minimum number of
instances" to 6 and "Maximum number of instances" to 8.

After correctly configuring scaling settings, the customer adds a scaling rule "Adjust to 10 ECS instances", and creates a
scheduled task based on this rule.

And then, the customer checks the scaling group and see it already contains 6 valid ECS instances, he/ she then
enables this scaling group immediately.

How many ECS instances are left in the scaling group when the scheduled task is activated once?
A. Eight

B. Ten

C. Six

D. Five

Correct Answer: D

QUESTION 2

is a ready-to-use service that seamlessly integrates with Elastic Compute Service (ECS) to
manage varying traffic levels without manual intervention.

A. Server Load Balancer
B. 0SS
C.RDS
D. VPC

Correct Answer: A

QUESTION 3

feature in Server Load Balancer means that it can forward the access requests from a single user to the
same ECS instance within a certain period to ensure session continuity.

A. session persistence
B. health check
C. Weighted Round Robin

D. least connections scheduling
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Correct Answer: A

Reference: https://www.alibabacloud.com/help/doc-detail/55202.htm

QUESTION 4

Which of the following statements to OSS bucket is not correct?
A. Every user can create more than one bucket

B. Bucket name can be changed after creation

C. Every bucket should have a unique name

D. There is no limitation to objects number inside one bucket

Correct Answer: B
Reference: https://www.alibabacloud.com/help/doc-detail/31885.htm? spm=a2c63.p38356.a3.3.43f03bb9a3Ki|LI

QUESTION 5

Company A builds a sales management platform based on Alibaba Cloud services, using 3 ECS instances. One of the
ECS instance has MySQL installed as the database server of the platform, the other two are used as WEB servers.
After some time, due to the rapid increase of employees and sales analysis requests, the performance of the platform is
challenged in terms of response time. Through CloudMonitor, it is found that the average CPU usage reaches 70% for
the two WEB server ECS instances and the database load reaches 75% for the database server ECS instance. In this
situation, company A may choose which Alibaba Cloud services to improve the performance
(Choose two.)

A. Use content delivery network, CDN, to accelerate the caching of the platform\\'s css, JavaScript files etc.

B. By adding a SLB instance and increase the number of ECS instances to reduce the work load on current ECS
instances.

C. Use RDS to replace existing self-built database, in order to obtain better database performance; also creating RDS
read-only instances to handle read-only requests, hence reduce the work load on master RDS instance.

D. Import data into OSS to share the storage load of the platform.

Correct Answer: BC
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